normalized X?

[ normalized x? probability |

he hiz_prob
Entries 5046 Enires 5045
Mean 0.9948 0.035 - Mean 05478
Std Dev 08487 Std Dev 0.3018
: Thiz 0.03 S b
5 NES 5502 Enires 5502
10 o [ mean 0.5274
- |std Dev 0.3084
. Chiz_prob
107 . [Entries’ 9597
Mean 1021 Mean 0.5212
Std Dev 0.3103

Std Dev 0.7767

Vo . . I
0 2 4 6 8 10 12 14 16 18 20 "0 0.10.2030.405060.70.
X2

T

< x2/ndf >

T

dp_Ip. > (%)

" B
. [ ===—DQM_CKF_SoftQCD

s DQM_mkFit_SoftQCD-noDNN-baseline

" | m— DQM_mkFit SuhQCD noDNN-fix

) PSR P T ¥

................... A

o : i

& l """" :
"+"+"+ T

H** lmlz: ]
n TP n (PCAto beamlme)

L% 2

E 2

% T

Vv \%

107 1072

-1
AR(track, jeltS)

<dpp. > (%)




	Contents
	Page 1


